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. TR 59T = [(10%3) + 4] = 34.

2) What is the meaning of ‘White Elephant’?

1)
An elephant of white colour

2)
A hoarder

3)
A black marketer

v 4)
A very costly or troublesome possession

4 : White elephant - An expensive item that is troublesome or useless. The
term comes from a story about the king of Siam, who was said to have given
an albino elephant, considered sacred, to a member of the court whom he
disliked, knowing that taking care of the animal would exhaust the person's
fortune.
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26) He is jealous my prosperity.
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over
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for
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27) What is the adjective form of the word '‘People'?

1)
Popular

2)
Popularity

3)
Popularize

v 4)
Populous

T : Adjective of the word "People" is populous.
populous - Adjective IR O . GARPIT, ST, GarpI|

28) Which one is the correct passive form of "Who will do the work?"

1)
Who will be done the work?

v 2)
By whom will the work be done?

3)
By whom the work will be done?

4)
Who will done the work?

T : Interrogative sentence IM who Mt ©F 37 B2 W@ passive voice - 4
ARG T’ By whom T &% 300 | ©1210l active voice - 4 will AT passive

voice 9 will be 27| WK UFaM "' sentence T 5061 X6 9[K9 I passive I AL |
Fod1E Afb3 5P Bad |




29) The antonym of the word 'awesome'

1)
grand

2)
daunting

3)
majestic

v 4)
disgusting

MY : awesome-TYKT ; disgusting-Bdds, so The correct antonym of
awesome is disgusting.

30) 'Felicitation' means

1)
Feeling bad

v 2)
Expression of good wish

3)
To conduct something

4)
Reading books

4 : "Felicitation” is a noun that refers to the act of expressing
congratulations or good wishes to someone. It is often used in formal or
celebratory contexts to acknowledge someone's achievements, milestones,
or important events in their life.

For example, when someone graduates from college, they might receive
felicitations from their friends and family, or when a colleague receives an
award, their coworkers might offer felicitations. The word "felicitation" is
derived from the Latin word "felicitas," which means happiness or good
fortune.



31) What is the adjective of the word 'Heart'?

1)
Heartful

2)
Heart

3)
Hearten

v 4)
Heartening

M4 : Heart - Noun, Hearten - Verb, Heartening - Adjective

32) The reading of history is interesting. Q31| 'reading' I =1 I7T0 TWZ?

1)
Adverb

2)
Uncountable noun

v 3)
Verbal noun

4)
Gerund

A A verbal noun, also known as a gerund, is a type of noun that is formed
from a verb and functions as a noun in a sentence. Verbal nouns end in "-ing"
and are often used to express an action or a state of being.

For example:

"Swimming" is my favorite sport. (In this sentence, "swimming" is a verbal
noun that functions as the subject of the sentence.)

| enjoy "reading" books. (In this sentence, "reading" is a verbal noun that
functions as the object of the verb "enjoy".)

"Running" can be good exercise. (In this sentence, “running" is a verbal noun
that functions as the subject of the sentence.)



33) Penny wise pound and

1)
callous

v 2)
foolish

3)
rich

4)
poor

Iy : The English idiom “penny wise and pound foolish” is a popular saying
that warns against safeguarding pennies while risking pounds. In other words,
being stingy with small sums of money while being extravagant with larger
sums.

34) Which spelling is correct?
1)
Secreteriate

2)
Secretariate

3)
Secreteriot

v 4)
Secreteriat

I - the correct spelling - - - - Secretariat. S{%Spelling % secretariat IK WY
SBITET | AR AT option SER spelling & IR |

35) The study of plants

1)
Biography

v 2)
Botany



3)
Biology

4)
Plantation

T : botany, branch of biology that deals with the study of plants, including
their structure, properties, and biochemical processes.

36) Which one is similar to Adult : Child?

1)
Swine : Saw

2)
Human : Animal

3)
Horse : Mare

v 4)
Cat : Kitten

AT : Adult : Child-2me]Ts . 51, I3 Cat : Kitten -Reerskiorergmar,

37) What is the verb of the word 'Ability'?

1)
Ably

v 2)
Enable

3)
Ableness

4)
Able

4T : Ability - Noun, Able - Adjective, Ably - Adverb, Enable - verb



38) He insisted my going there?
1)
for

2)
over

3)
to

v 4)
on

I : insist on sth/sb doing sth - X5 U3 appropriate use I @A I TR
IR\ I g FIR TR (TR 2719 AR CHI IR0 2|

39) 'Out and out' means —

1)
to get out

v 2)
thoroughly

3)
not at all

4)
someone from outside

A : The phrase "out and out"” is used to emphasize the extreme nature of
something, indicating that it is complete, thorough, and absolute. It can be
used to describe a person's behavior or character, or to describe a situation
or event. For example, "He was an out and out liar," or "That was an out and
out disaster." In both cases, the phrase emphasizes the extent or degree of
the described situation.

40) What is the synonym of '‘Competent'?

1)
Discreet



v 2)
Capable

3)
Prudent

4)
Circumspect

4T : competent
circumspect - 3¥oF

discrete - 3@

capable - 37%d, 7%

prudent - 55,

YT, T SR TT W16 RE6AR (T I/ @, competent Sd B9, Q15T AR W9
synonym X® capable T4 JICF 575 |

41) If a substance is cohesive, it tends to Z

1) retain heat

2) bend without much difficulty
v 3) stick together

4) break easily

MY : Cohesive - TR U@ (1057 AP 98d| Qd, Retain heat - 19 ORI 17|
Bend without too much difficulty - 37 @1 137 2R 76T 2| Stick together |
QT (05T ARPT | Break easily - SXOR (G0 T | I3[, T fEfds TeIRPSIRE JHa T
W O 2 | (THA, HRRATH , IR 30N | PICSR A K] TGS 1T BT () \3 (S TN3TR ()
D Im o IR | TRE, B9 B AMEIIR I8 IS ©19f 4 M IR AT | D13 ' @\3 I Gl
I @ f&fAf Cohesive (TSR @TsT ACF) BT TR together d(WITA @CsT AT | TG
, ST G T |

42) A 'Myth' is

1)
a detective story

v 2)
a legend

3)
an adventurous story



4)
a mysterious story

AT : Myth - (TP P1RA Legend, Legend X (KT 1281 @fie, mythological
story T a traditional story.

43) A person who was before another person refers to

v1)
predecessor

2)
contemporary

3)
superior

4)
successor

AT : Predecessor="[K*FY =ancestor, father, forefather, sire, progenitor

44) Sin is to confess as fault is to

1)
forgive

v 2)
admit

3)
accept

4)
consider

A : The word that completes the analogy is "admit." Confessing is
admitting to committing a sin, and admitting is also the act of acknowledging

a fault or mistake. Therefore, just as one confesses to a sin, one admits to a
fault.
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Global Processing System
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Global Positioning System
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General Positioning System
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